EBEE_ESERTFTEANTANEFE
HENENREARSBZHE () (REa+)

TERREELS:
1LEn=18  #EBERARY ®&En> 1LEEA +m%n - n
RB, T4
n+m | n(n? +m)-—-(n3—n)=nm+n‘
Hit,
n2+m§nm+n.
g

~ nfn-1)<m(n-1).
Bn>1,8E%n<m.



2. (a) 38 M %% BIfF B2 Z47 AB, BiC, T47 BC, C A, =73 CA.
8l MP,MQ,MR% B8 AMB;C,, AMCo A1, AMA;B 85 £45 .
B, B3 A4 = BBy, BB, = CC, CCy = Ady, T 2

AR+ BP+CQ = AAy+ AyR+ BBy + BoP + CCy + Cr0Q

= CCy+ RBy + AA; + PCy + BB, + Q4
= (QA; + AA) + (RBy + B1B) + (PCy + C,C) = AQ+ BR+ CP.

(b) BEREETAE: |

AR*+BP*+0Q = (AM® — ME®)+(BM? - MPY)+(CM* - MQ?)

= (AM? - MG?)+(BM? - MR))+(CM? — MP?) = AQ*+BR+C

Rt () R EXTA |
(AR+BP +CQ)* — (AR*+ BP* + CQ?)

= (AQ + BR+ CP)* - (AQ*+ BR* + CF?).
L ERANTEE |

AR - BP+BP-CQ+CQ-AR=AQ -BR+BR-CP+CP-AQ.



3. (a)ﬂfﬁﬁﬁx;‘%aﬁ:
((vab)? + (vbe) + (Vaa)t) (Ve + (va) + (VBY)

) |
> (\/abc + Vabe + \/abc) = Qabe,

Ap |
(ab+bc+ ca)(a + b+ ¢) > 9abc.

- BB B ab+ be + ca > abe.

b)FIR()HER: |

(240" +) — (@@ +8 + ) =a’(1 —a) + b1 - b) + (1 —¢)
C=d¥b+c)+bc+a)+Ha+b) = (ab+bc+ca‘)(a+b?}-c) — 3abc
= gb + bc + ca — 3abc > 9abc — 3abc = 6abe.

4-§&“EL9@EEWJ*95'J§XZG1,@2, cLa B LT, Kfa 2
ag>--2a92>2,fla;+ap+-- +ag——21 EL%{&#T HREE
ZféuTm&f%ﬁfl\fﬁ

f(alaazy"'ia@) =§:a‘laj = "’ZG»;G.J
i< z#y
EEE—Eu> 2, Fk>2, ?kﬁ“b‘bl——aq-i-l bp=ar— 1,0 =
a;, \VI'LT—]. k E]J

f(bl,bg,»--,bg)-—f(a1,ag,~~,ag)=ak—a1»—1g—1<0.

MEEESEEEETRERSBE; B, B S TESRD
ENTRREREL.HEFRT XA EQN ZRSEERF
7»2RK, @%ﬁfﬁ’-}%d\ﬂ_% v

£(5,2,2,2,2,2,2,2,2) = %(1 .5-16+8-2-19) = 192.





